						RESAM				-0									
		Bid #053-JJ02 Title: Latex Gloves			R. Tyno		-		J. Bradley	A2							4		
		Buyer: R. Tyndall			Prepare	d By		Verified		V	_								-
			ESTIMATED			Aaron Industrial Sa	afeteu									·			
ITEM	DCPS#	DESCRIPTION OF ITEM	QUANTITY		Unit		Manuf &	Unit	Abel Unlimited	, Inc. Manuf &	Unit	AGE Paper	Manuf &		All Florida Pa			AFP industrie	s
	364-0469		QUANTITY	UNIT	Price	Total Price	Model	Price	Total Price	Model	Price		Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf &
		Gloves: All latex disposable, non-sterile, surgical type, minimum of 9" long, ambidextrous, minimum 5 mils thick, multi purpose, powdered, with rolled cuff. Size Large																I I I I I I I I I I I I I I I I I I I	Model
-	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	·																-	
2	364-4146	Gloves: All latex disposable, non-sterile	7,500	Case	\$28.30	\$212,250.00		\$25.95	\$194,625.0	Ironwear # 0.4610	\$26,49	\$198,675.00 V				Safety Zone	ĺ		Impact
		surgical type, minimum of 9° long, ambidextrous, minimum 5° mils thick, multi purpose, powdered, with rolled cuff. Size Extra Large									G ZU.49	3198,673.00 V	OIK	\$26.25	\$196,875.00	GRDR - L	\$35.24	\$264,300.00	8620L
			3,000	Case	\$28.30	\$84,900.00	Ansell 69- Z10-XL	\$25 .95	\$77,850.00	Ironwear	\$26.49	\$79,470.00 Vo	alk	200		Safety Zone		·	Impact
			Total			\$297,150.00					7-51.7		OIX 1	\$26.25	\$78,750.00	GRDR - XL	\$35.24	\$105,720.00	8620XL
Mercania.						4251,120.00			\$272,475,00		i	\$278,145.00			\$275,625.00			\$370,020.00	
		= Low Bid Meeting Specifications													ie Bid				
		= Second Low Bid Meeting Specifications																	
		= Third Low Bid Meeting Specifications																	
		= Fourth Low Bid Meeting specifications																	

	1	Bid #053-JJ02 Title: Latax Gloves Buyer: R. Tyndali			·														
TEM	DCPS#	DESCRIPTION OF ITEM	ESTIMATED QUANTITY		Unit Price	Allied Capital Gro	Manuf &	Unit	Amfak	Manuf &	Bi Unit	insons Hospital Si	upplies Manuf &		Calico Industrie		Cal	ro Distributors an	nd Supplies
1	364-0469	Gloves: Ali latex disposable, non-sterile	7		riice	Total Price	Model	Price	Total Price	Model		Total Price	Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model
		surgical type, minimum of 9° long, ambidextrous, minimum 5 mils thick, multi purpose, powdered, with rolled cuff. Size Large																-	
							American										- - - - - - -		
2	364-4146	Gloves: Ali latex disposable, non-sterile	7,500	Case	\$28.00	\$210,000.00	Health Care	\$92.75	\$695,625.00	Ansel Inc 69	\$43.70		Brand First Guard			Safety Zone GDR LG-1-	<u> </u>		Volk Sa Today VPR610
		surgical type, minimum of 9* long, ambidextrous, minimum 5 mils thick, multi purpose, powdered, with rolled cuff. Size Extra Large									#43.70	\$327,750.00	FG100	\$25.98	\$194,850.	90 T	\$29.90	\$224,250.00	o G
											·								-
			3,000	Case	\$28.00	\$84,000.00	American Health Care 102-8-XLK9	\$92.75	\$278,250.00	Ansel Inc 7232	\$43.70		Brand First Guard	* 25.00		Safety Zone GDR XLG-1			Volk Sa Today VPR6107
			Total			\$294,000.00			\$973,875.00			\$458,850.00	10100 1	\$25.98	\$77,940.0 \$272,790.00		\$29.90	\$89,700.00 \$313,950.00	LG
		= Low Bid Meeting Specifications																\$313,930,00	
ŗ	,	= Second Low Bid Meeting																	

Specifications

= Third Low Bid Meeting
Specifications

= Fourth Low Bid Meeting
specifications

		Bid #053-JJ02 Title: Latex Gloves Buyer: R. Tyndall			 														
			ESTIMATED		Unit [Dash Medical Glove	es, Inc. Manuf &	Unit	District Healtho	are Manuf &	Pro	International - No posal (Photo Cop	y Only)	Exc	el Supply Comp	any, Inc.	Excel S	upply Company	Inc Altern
ГЕМ	DCPS #	DESCRIPTION OF ITEM	QUANTITY	UNIT	Price	Total Price	Model	Price	Total Price	Model	Unit Price	Total Price	Manuf & Model	Unit	Total Price	Manuf & Model	Unit Price	Total Price	Manuf
2		Gloves: All latex disposable, non-sterile surgical type, minimum of 9° long, ambidextrous, minimum 5 mils thick, multi purpose, powdered, with rolled cuff. Size Large	7,500	Case	\$34.50	\$258,750,00	Dash O VitaGard	\$31.00	\$232,500.00	Dynarex	\$29.70	\$222,750.00	No Brand	\$26,05		Lifeguard			Model
		surgical type, minimum of 9° long, ambidextrous, minimum 5 mils thick, multi purpose, powdered, with rolled cuff. Size Extra Large	3.000	Case	\$34.50	\$103,500.00	Dash Vitagard	\$31.00	\$93,000.00	Dynarex	\$29.70		No Brand	-		Lifeguard	\$26.25		Majestic
		•	Total	`		\$362,250.00			\$325,500.00		422.70	\$311,850.00	Specified	\$26.05	\$78,150.00 \$273,525.00	1190	\$26.25	\$78,750.00 \$275,625.00	0 3413
		= Low Bid Meeting Specifications = Second Low Bid Meeting																32/3,025,00 Tic Rid	

= Second Low Bid Meeting
Specifications
= Third Low Bid Meeting
Specifications
= Fourth Low Bid Meeting
specifications

		Bid #053-JJ02 Title: Latex Gloves																	
		Buyer: R. Tyndali	ESTIMATED		E	Emergency Medi	cal Products	Fay	croft interior & Pur	chasing, inc		irst Choice Medic							
ITEM	DCPS#	DESCRIPTION OF ITEM	QUANTITY	UNIT	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit				Genisis II, in	Manuf &	Globa	Protection Acqu	
		Gloves: All latex disposable, non-sterile, surgical type, minimum of 9° long, ambidextrous, minimum 5 mils thick, multi purpose, powdered, with rolled cuff. Size Large							- Odd Files	Nice	Price	Total Price	Manuf & Model	Unit Price	Total Price	Model	Unit Price	Total Price	Manuf & Model
2	364-4146	Gloves: All latex disposable, non-sterile surgical type, minimum of 9° long,	7,500	Case	\$40.00	\$300,000.00	Dynarex 2328	\$27.96	\$209,700.00	Volk #61076 X Large	\$37.40	\$280,500.00	First Choice #13003	\$27.43	\$205,725,00	Safety Zone GRDR LG IT	\$36.04		PIP 62-322/L Samples
The second secon]	surgical type, minimum of 9° nong, ambidextrous, minimum 5 mils thick, multi- purpose, powdered, with rolled cuff. Size Extra Large				·											\$30.04	\$270,300.00	
L	l		3,000	Case	\$40.00	\$120,000.00	Dynarex 2329	\$27.96	\$83,880.00	Volk #61076 XLarge	\$37.40	\$112,200.00	First Choice	\$27.43	\$82,290.00	Safety Zone GRDR XLG			PIP 322/XL - Samples
			Total			\$420,000.00			\$293,580.00			\$392,700.00		<u> </u>	\$288,015.00		\$36.04	\$108,120.00 \$378,420.00	provided
		= Low Bid Meeting Specifications																	
	i :	= Second Low Bid Meeting Specifications = Third Low Bid Meeting																	
į	i	Specifications						٠											
ĺ		= Fourth Low Bid Meeting specifications																	

		Bid #053-JJ02 Title: Latex Gloves Buyer: R. Tyndall					·						,						
ITEM	DCPS#	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	II I	Unit Price	Henry Sche	In Manuf & Model	Unit Price	Ideal Supp	oly Manuf & Model		terboro Packaging	Manuf &	li	ro Packaging Co	Manuf &	Unit	Janeice Products	Co, Inc.
	i	Gloves: All latex disposable, non-sterile surgical type, minimum of 9" long, ambidextrous, minimum 5 mils thick, multi purpose, powdered, with rolled cuff. Size Large								Walter C Wigger	One Pile	Total Price	Model	Unit Price	Total Price	Model	Price	Total Price	Model
2		Gloves: All latex disposable, non-sterile, surgical type, minimum of 9" long, ambidextrous, minimum 5 mils thick, multi purpose, powdered, with rolled cuff. Size Extra Large	7,500	Case	\$40.20	\$301,500.0X	No Brand Specified	\$27.29	\$204,675.00	Safety Zone GDR - LG-1-T	\$32.85	\$246,375.00	Aurelia Large	\$29.00	\$217,500.00	Emerald) Large	\$31.63	\$237,225.00	Seidman Safety Zone
			3,000	Case	\$40.20	\$120,600.00	No Brand Specified	\$27.29	\$81,870.00	Safety Zone GDR - XLG-1-T	\$32.85	\$98,550.00	Aurelia XL	\$29.00	\$87,000.00	Emerald XL	\$31.63	\$94.890.00	Seidman Safety Zone
			Total			\$422,100.00			\$286,545.00			\$344,925.00			\$304,500.00		-	\$332,115.00	
		= Low Bid Meeting Specifications							-								TEXAS III		
		= Second Low Bid Meeting Specifications																	
		= Third Low Bid Meeting Specifications																	
		= Fourth Low Bid Meeting specifications																	

			1																
		Bid #053-JJ02												•					
		Title: Latex Gloves Buyer: R. Tyndall																	
		Dayor, III. Lyttudii		7				7		-									
ITEM	DCPS #		ESTIMATED	1	[Unit	d Glove & Safety I	MFG. Co. LLC		Moore Medica			Midwest Medic		Neeld P	aper-Supply DB/	A Janitors Supply		New Age Market	
115101		DESCRIPTION OF ITEM	QUANTITY	UNIT	Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf &	Unit		
	364-0469	Gloves: All latex disposable, non-sterile surgical type, minimum of 9" long, ambidextrous, minimum 5 mils thick, multi purpose, powdered, with rolled cuff. Size Large						-							Total Price	Model	Price	Total Price	Manuf & Model
			7,500	Case	\$51.00	\$393.500.00	Magid 5005 -L			Cyprus Medical 23- 06 - Samples									LTAL30 - Does not meet specifications -
2		Gloves: All latex disposable, non-sterile, surgical type, minimum of 9" long, ambidextrous, minimum 5 mils thick, multipurpose, powdered, with rolled cuff. Size Extra Large			931.00	\$302,300,00	Magid 5005 -L	\$33.10	\$248,250.00	provided	\$48.15	\$361,125.00	Dynarex 2328	\$27.28	\$204,600.0	O Safety Zone	\$26.98	\$202,350.0	Vinyl rather than
			3,000	Case	\$51.00	\$153,000.00	Magid 5005-XL	\$33.10	1	Cyprus Medical 23- 08 - Samples provided	\$48.15	\$144.450.00	Dynarex 2329	***					LTAL30 - Does not meet specifications - Vinyl rather than
		7	Total								V*0.15	\$144,430,00	Dynarex 2329	\$27.28	\$81,840,00	Safety Zone	\$26.98	\$80,940.00	latex glove
			I OLAI			\$535,500.00			\$347,550.00			\$505,575.00			\$286,440.00			\$283,290,00	
		= Low Bid Meeting Specifications						•			·						· · · · · · · · · · · · · · · · · · ·		
ļ		= Second Low Bid Meeting Specifications																	
		= Third Low Bid Meeting Specifications																	
,		= Fourth Low Bid Meeting specifications														•			

			,																
		Bid #053-JJ02																	
		Title: Latex Gloves Buyer: R. Tyndall																	
		payer, it, Tyridaii		T				7			10								
															,				1
			ESTIMATED		Р	ancar industrial S			P.M.E. Inc.			Reliable Custo			Satco Supr	olv		Rex Chemica	
ITEM	DCPS #	DESCRIPTION OF ITEM	QUANTITY	UNIT	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	I Init Price		Manuf & Model
1		Gloves: All latex disposable, non-sterile surgical type, minimum of 9° long, ambidextrous, minimum 5 mils thick, multipurpose, powdered, with rolled cuff. Size Large								Ansell Anl.69								rotari neg	INCUC
			7,500	Case	\$28.83	\$216.225.00	Safety Zone	\$10.50	\$78,750.00	210 - Nonresponsiv e - Vendor could not provide samples or technical data									
		Gloves: All latex disposable, <u>non-sterile</u> surgical type, minimum of 9° long, ambidextrous, minimum 5° mins thick, multi purpose, powdered, with rolled cuff. Size Extra Large	3,000	Case	\$28.83		Safety Zone	\$10.50		Ansell ANL ANXL69-210 - Non responsive Vendor could not provide samples or technical data	\$37.21 \$37.21		Impact 8620L	\$41.69			\$35.80	\$268,500.00 \$107,400.00	Impact 8620L
			Total			\$302,715.00			\$110,250.00			\$390,705.00		<u> </u>	\$438,585.00	outer) Estile	- \$33.60	\$375,900.00	862UXL
		= Low Bid Meeting Specifications	W. C.			,													
! !		= Second Low Bid Meeting Specifications																	
		= Third Low Bld Meeting Specifications																	
n		= Fourth Low Bid Meeting specifications																	

		Bid #053-JJ02														~			
		Title: Latex Gloves Buyer: R. Tyndall																	
	1	ouyer: K. Tyndali			T-10-														
			ESTIMATED			Strength Heal	th		Tronex Internal	tional		Sam Tell and Son	. In a				Unive	ersal Hme Health	and Industrial
ITEM	DCPS #	DESCRIPTION OF ITEM	QUANTITY	INIT	I Init Price	Total Bring	Manuf & Model	Unit					Manuf &	 	Unisource World	Manuf &	Unit	Supplies, Ir	nc/
			QUARTITI		Unit Frice	Total Filce	Model	Price	Total Price	Manuf & Model	Unit Price	Total Price	Model	Unit Price	Total Price	Model		Total Price	Manuf & Model
		Gloves: All latex disposable, non-sterile, surgical type, minimum of 9' long, ambidextrous, minimum 5 mils thick, multi purpose, powdered, with rolled cuff. Size Large																	
2	364-4146	Gloves: All latex disposable, non-sterile	7,500	Case	\$40.00	\$300,000.00	Strength Health	\$29,90	\$224,250,00	Tronex 1210-30	\$34.50	\$258,750.00	Safety Zone	\$38.85	\$291,375.00	Impact	\$33.89	\$254,175,00	No Brand Specified
		surgical type, minimum of 9" long, ambidextrous, minimum 5 mils thick, multi- purpose, powdered, with rolled cuff. Size Extra Large	3,000	Case	\$40,00		Strength												
<u></u>	<u></u>		3,000	case	\$40.00	\$120,000.00	Health	\$29.90	\$89,700.00	Tronex 1210-35	\$34.50	\$103,500.00	Safety Zone	\$38.85	\$116,550.00	Impact	\$33.89	\$101,670.00	No Brand Specified
	104		Total			\$420,000.00	-		\$313,950.00			\$362,250.00			\$407,925.00		// <u></u>	\$355,845.00	
		= Low Bid Meeting Specifications														· · · · · · · · · · · · · · · · · · ·			
] [= Second Low Bid Meeting Specifications																	
į		= Third Low Bid Meeting Specifications																	
į		= Fourth Low Bid Meeting specifications				·													

•			ก										
		Bid #053-JJ02										•	
		Title: Latex Gloves											
	r	Buyer; R. Tyndall		·	1	10.5.							
			ESTIMATED			W.G. Airs, Inc			MIM O				
ITEM	DCPS #	DESCRIPTION OF ITEM	0.11.1.1	l			Manuf &	 	WW Grainge	Manuf &	Unit	o Dental and Medica	il Supplies, Inc.
			QUANTITY	UNIT	Unit Price	Total Price	Model	Unit Price	Total Price	Model	Price	Total Price	Manuf & Model
		Gloves: All latex disposable, non-sterile, surgical type, minimum of 9" long, ambidextrous, minimum 5 mils thick, multi purpose, powdered, with rolled cuff. Size Large					-						
2	364-4146	Charge All Lan. 2	7,500	Case	\$28.51	\$213,825.00	Safety Zone	\$31.00	\$232,500.00	4XTOR	\$46.00	5145 000	Samples provided - Quala Dental
		Gloves: All latex disposable, <u>non-sterile</u> surgical type, minimum of 9" long, ambldextrous, minimum 5 mils thick, multi purpose, powdered, with rolled cuff. Size Extra Large			,			4 51100	9232,300.00	4.7.100	346.00	\$345,000.0	X Products
			3,000	Case	\$28.51	\$85,530.00	Safety Zone	\$31.00	\$93,000.00	4XT08	\$46.00	\$138,000.00	Samples provided - Quala Dental Products
			Total			\$299,355.00			\$325,500.00		-	\$483,000.00	
[= Low Bid Meeting Specifications						200000000000000000000000000000000000000					
!		= Second Low Bid Meeting Specifications											
		= Third Low Bid Meeting Specifications											
		= Fourth Low Bid Meeting specifications											